Problem 2.34

Find 
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 in the network shown.
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Suggested Solution

Combining the 
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 and 
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 resistors in parallel yields the following equivalent circuit.
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Then,


[image: image5.wmf]1

6000

4 mA

60003000

o

II

æö

==

ç÷

+

èø


� EMBED SmartDraw.2  ���





� EMBED SmartDraw.2  ���








[image: image7.wmf]12

mA

2

k

W

4

k

W

2

k

W

I

1

[image: image8.wmf]12

mA

3

k

W

6

k

W

4

k

W

2

k

W

I

o

_1057469675.unknown

_1057469744.unknown

_1057469895.unknown

_1057469696.unknown

_1057319538.bin

_1057469471.bin

_1057180538.unknown

